


Steps to Apply the Alligation Rule/मिश्रण के नियि लगािे के चरण:



In a class; the average age of boys is 16.5 years while the average age of the 
girls is 14 years. If the average age of the students of the class is 15 years; find 
the ratio of number of the boys and the girls.
एक कक्षा िें; लड़कों की औसत आयु 16.5 वर्ष जबकक लड़ककयों की औसत आयु 14 वर्ष है. 
यदि कक्षा िें ववद्यार्थषयों की औसत आयु 15 वर्ष हो तो लड़कों और लड़ककयों की संख्या का 
अिुपात ज्ञात कीजजए। A. 3:2      B. 2:3        C. 4:5         D. 5:4        E. None



The average of marks obtained by 120 students was 35. If the average of the 
passed candidates was 39 and that of failed candidates is 15, the number of 
the candidates who passed the examination is:
120 छात्रों द्वारा प्राप्त अंकों का औसत 35 था। यदि उत्तीणष छात्रों का औसत 39 था और 
असफल छात्रों का औसत 15 है, तो परीक्षा िें उत्तीणष होिे वाले छात्रों की संख्या है:

A. 100      B. 100        C. 120         D. 80        E. None



The per month average salary of the workers (Technician + Non-Technician) 
in a factory is ₹ 8000. If the per month average salary of the 7 technicians is ₹
12000 and the per month average salary of the non-technicians is ₹ 6000, find 
the total numbers of the workers in the factory.
एक कारखािे िें किषचाररयों (तकिीमियि + गैर-तकिीमियि) की प्रनत िाह औसत आय ₹
8000 है. यदि 7 तकिीमियि की प्रनत िाह औसत आय ₹ 12000 और गैर-तकिीमियि की 
प्रनत िाह औसत आय ₹ 6000 है, तो कारखािे िें श्रमिकों की कुल संख्या ज्ञात कीजजए। 

A. 14       B. 21       C. 30     D. 28     D. None



Mr. Bhanu Pratap covered 150 km distance in 10 hours. The first part of his 
journey he covered by car and then hired a rickshaw. The speed of car and 
rickshaw is 20 km per hour and 12 km per hour respectively. Find the ratio of 
the distances covered by car and the rickshaw respectively.
श्री भािु प्रताप िे 10 घंटे िें 150 ककिी की िरूी तय की। अपिी यात्रा का पहला भाग उसिे 
कार से तय ककया और कफर एक ररक्िा ककराए पर ली। कार और ररक्िा की गनत क्रििः 20 
ककिी प्रनत घंटे और 12 ककिी प्रनत घंटा है। कार और ररक्िा द्वारा तय की गयी िरूी का 
क्रििः अिुपात ज्ञात कीजजये । A. 2:3        B. 5:3        C. 3:5           D. 1:1          E. 2:3



In a Municipal parking; there are some two wheelers and rest are four 
wheelers. If the wheels are counted there are total 520 wheels but the in 
charge of the parking told me that there are only 175 vehicles. If no vehicles 
as a Stepney; find the ratio number of two wheelers to four wheelers in the 
parking area.
एक िगर पाककिं ग िें; कुछ िो पदहया वाहि हैं और बाकी चार पदहया वाहि हैं। यदि पदहयों 
की गणिा की जाती है तो कुल 520 पदहयें हैं लेककि पाककिं ग के प्रभारी िे िुझ ेबताया कक 
केवल 175 वाहि हैं। यदि स्टेपिी के रूप िें कोई वाहि िहीं है; तो पाककिं ग के्षत्र िें िो 
पदहया वाहिों और पदहया वाहिों की संख्या का अिुपात ज्ञात कीजजए।

A. 17:18         B. 7:10          C. 8:7          D. 5:6          E. None



In a mathematics examination; the average score of students who passed is x 
and those who failed is y. If the average score of all the students who 
appeared in the examination is z; then the percentage of the students who 
failed was:
गणणत परीक्षा िें; उत्तीणष छात्रों के औसत स्कोर x है और जो ववफल रहे उिका औसत y है। 
यदि परीक्षा िें उपजस्थत सभी छात्रों का औसत स्कोर z है; तो ववफल छात्रों के प्रनतित था:
A. 

𝟏𝟎𝟎𝐱𝐲

𝐳𝟐
B. 

𝟏𝟎𝟎(𝐲−𝐳)

𝐱−𝐲
C. 

𝟏𝟎𝟎(𝐱−𝐲)

𝐱−𝐳
D. 

𝟏𝟎𝟎(𝐱−𝐳)

𝐱−𝐲
E. None



A vessel of 80 liters is filled with milk and water. 70% of milk and 30% of water 
is taken out of the vessel. It is found that the vessel is vacated by 55%. Find the 
ratio of milk to water in the vessel.
80 लीटर धाररता वाला एक बतषि िधू और पािी से भरा हुआ है। यदि 70% िधू और 30% 
पािी बतषि से निकाल मलया जाय तो बतषि 55% खली हो जाता है। बतषि िें िधू और पािी 
का अिुपात ज्ञात कीजजए।

A. 3:2         B. 3:5          C. 5:3          D. 5:6          E. None



A borrowed a total loan of ₹14000 from B and C. B claimed 12% simple interest 
per annum while C claimed 14% per annum. The total interest paid by A in 
one year was ₹ 1800. Find the ratio of the loan taken from B and C 
respectively? 
A िे कुल ₹14000 का लोि B और C से मलया। B 12% प्रनत वावर्षक ब्याज की िर जबकक 
C 14% प्रनत वर्ष ब्याज की िर का िावा करता है। एक वर्ष िें A द्वारा अिा ककया गया 
कुल ब्याज ₹ 1800 है। क्रििः B और C से मलए गए ऋण का अिुपात ज्ञात कीजजए? 

A. 3:2         B. 3:5          C. 5:3          D. 4:3          E. None



The amount on ₹ 9000 at a certain rate after 4 year, 10 months and 74 days is 
₹ 13500. If the principle is increased by 7%, the amount is increased by 14%. 
Find the percentage change in the simple interest obtained after 4 years, 10 
months and 74 days at the same rate.
₹ 9000 पर 4 वर्ष 10 िहीिे और 74 दििों के बाि ककसी निजचचत ब्याज की िर से 
मिश्रधि ₹ 13500 होता है। यदि िूलधि को 7% बढ़ा दिया जाय तो मिश्रधि 14% बढ़ 
जाता है. 4 वर्ों 10 िहीिे 74 दििों िें सिाि ब्याज की िर से प्राप्त साधारण ब्याज िें 
प्रनतित पररवतषि ज्ञात कीजजये।

A. 21%         B. 28%          C. 20%          D. 25%          E. None



Weights of two friends Ram and Shyam are in the ratio of 4:5. Ram’s weight 
increases by 10% and the total weight of Ram and Shyam together becomes 
82.8 kg, with an increase of 15%. By what percent did the weight of Shyam
increases?
िो िोस्त राि और चयाि के भार का अिुपात 4:5 है। राि के भार िें 10% की वदृ्र्ध होती 
है और राि और चयाि का कुल भार िें 82.8 ककलो हो जािे के साथ उिके कुल भार िें 
15% की वदृ्र्ध होती है। चयाि के भार िें ककतिे प्रनतित की वदृ्र्ध हुई?

A. 21%         B. 20%          C. 22%          D. 25%          E. 19%



The present population of a town is 5000. If the number of the males is 
increases by 10% while the number of the females increases by 15%; the 
population of the town increases to 5600. Find the ratio of the number of the 
males to females in the town.
एक कस्बे की की वतषिाि जिसँख्या 5000 है। यदि पुरुर्ों की संख्या िें 10% की वदृ्र्ध हो 
और िदहलाओं की संख्या िें 15% की वदृ्र्ध तो कस्बे की जिसँख्या बढ़कर 5600 हो जाती 
है। कस्बे िें पुरुर्ों और िदहलाओं की संख्या का अिुपात ज्ञात कीजजए।

A. 3:2         B. 3:5          C. 5:3          D. 4:3          E. 2:3



A man spends 60% of his income monthly. When his monthly income 
increases by 15%, as a result the savings also increases by 6%. Find the 
percentage change in his monthly expenditure?
एक व्यजक्त अपिी िामसक आय का 60% खचष करता है. जब उसका िामसक आय 15% 
बढ़ता है, फलस्वरूप िामसक बचत 6% बढ़ जाता है. उसके िामसक खच ेिें प्रनतित पररवतषि 
ज्ञात कीजजये. A. - 21%         B. – 9%          C. 9%          D. 21%          E. 10%



A man sold two articles at 25% profit and 10% loss respectively and gains 5% 
on the whole transaction. Find the ratio of the cost price of the articles 
respectively.
एक आििी िे िो वस्तओंु को क्रििः 25% लाभ पर और 10% की हानि पर बेचा और पूरे 
लेििेि पर 5% का लाभ हामसल ककया। क्रििः वस्तओंु की लागत िूल्य के अिुपात का पता 
लगाएं। A. 3:2         B. 3:4          C. 5:3          D. 4:3          E. 2:3



A man sold two articles at 25% profit and 10% loss respectively and gains 20% 
on the whole transaction. Find the ratio of the selling price of the articles 
respectively.
एक आििी िे िो वस्तओंु को क्रििः 25% लाभ पर और 10% की हानि पर बेचा और पूरे 
लेििेि पर 20% का लाभ हामसल ककया। क्रििः वस्तओंु की ववक्रय िूल्य के अिुपात का 
पता लगाएं। A. 3:22         B. 25:4          C. 25:3          D. 4:23          E. 3:25



A man bought two watches for ₹810. He sold one to gain 120% while the other 
to gain 30%; and gains as much the amount for which he bought the two 
watches. Find the difference of the cost price of the watches.
एक व्यजक्त िे िो घड़ड़याँ ₹810 िें खरीिी. उसिे एक को 120% के लाभ पर जबकक िसुरे 
को 30% के लाभ पर बेचा; और उसे कुल उतिे ही रूपये का लाभ हुआ जजतिे ₹ िें उसिे 
िोिों घड़ड़याँ खरीिी। घडी के क्रय िूल्यों का अंतर ज्ञात कीजजये.

A. ₹400         B. ₹500          C. ₹550          D. ₹450          E. ₹475



A trader has 50 kg of rice, a part of which he sells at 10% profit and the rest at 
5% loss. He gains 7% overall. What is the quantity sold at 5% loss?
एक व्यापारी के पास 50 ककलो चावल है। इसका कुछ दहस्सा उसिे 10% के लाभ पर बेचा 
और बाकी दहस्सा 5% की हानि पर। कुल सौिे िें उसे 7% का लाभ होता है। 5% हानि पर 
ककतिे ककग्रा चावल बेचा गया?

A. 10 kg B. 30 kg C. 20 kg D. 40 kg E. None



If goods are purchased for ₹550 and 1/3rd be sold at a loss of 10%; what 
percent of profit should be taken on the remainder to gain 20% on the whole 
transaction?
यदि सािाि ₹550 िें ख़रीिा गया और 1/3 दहस्सा 10% की हानि पर बेचा गया तो बच े
दहस्से को ककतिे प्रनतित के लाभ पर बेचा जाए कक कुल व्यापार पर 20% का लाभ हो?

A. 30%         B. 20%          C. 35%          D. 25%          E. None



How many kg of rice at 42 paisa per kg must a man mix with 25 kg of rice at 
24 paisa per kg so that he may on selling the mixture at 40 paisa per kg, gain 
25%?
42 पैसा प्रनत ककग्रा वाले चावल का ककतिा ककलो 24 पैसा प्रनत ककग्रा वाले चावल के 25 
ककलो के साथ मिलाया जाय ताकक मिश्रण को 40 पैसा प्रनत ककग्रा की िर से बेचिे पर 25% 
का लाभ हो? A. 10 kg B. 25 kg C. 20 kg D. 40 kg E. None



Two different mixtures of milk and water, one having 51% milk and another 
having 72% milk, are mixed to get a mixture having 60% milk. Find the ratio of 
the quantity of the two mixtures respectively.
िधू और पािी के िो अलग-अलग मिश्रण, एक िें 60% िधू और िसूरे िें 75% िधू है, 
70% िधू वाला मिश्रण प्राप्त करिे के मलए मिलाया जाता है। क्रििः िोिों मिश्रणों की िात्रा 
का अिुपात ज्ञात कीजजए।

A. 3:4 B. 4:3 C. 2:3 D. 3:2 E. None



Two different mixtures of milk and water, one having 60% milk and another 
having 75% milk, are mixed to get a mixture having 69% milk. Find the ratio of 
the quantity of the milk in the two mixtures respectively.
िधू और पािी के िो अलग-अलग मिश्रण, एक िें 60% िधू और िसूरे िें 75% िधू है, 69% 
िधू वाला मिश्रण प्राप्त करिे के मलए मिलाया जाता है। िोिों मिश्रणों िें क्रििः िधू की िात्रा 
का अिुपात ज्ञात कीजजए।

A. 3:4 B. 4:3 C. 2:3 D. 8:15 E. None



Two different mixtures of milk and water, one having 40% milk and another 
having 75% milk, are mixed to get a mixture having 60% milk. Find the ratio of 
the quantity of the water in the two mixtures respectively.
िधू और पािी के िो अलग-अलग मिश्रण, एक िें 40% िधू और िसूरे िें 75% िधू है, 60%
िधू वाला मिश्रण प्राप्त करिे के मलए मिलाया जाता है। िोिों मिश्रणों िें क्रििः पािी की 
िात्रा का अिुपात ज्ञात कीजजए।

A. 3:1 B. 1:3 C. 2:3 D. 8:15 E. None



Two alloys are both made up of copper and tin. The ratio of copper and tin in 
the first alloy is 1 : 3 and in the second alloy is 2 : 5. In what ratio should the 
two alloys be mixed to obtain a new alloy in which the ratio of tin and copper
be 8 : 3 ?
िो मिश्रधातएंु िोिों तांबे और दटि से बिी हैं। पहली मिश्र धात ुिें तांबे और दटि का 
अिुपात 1:3 है और िसूरे मिश्र धात ुिें 2:5 है। एक िई मिश्र धात ुप्राप्त करिे के मलए 
िोिों मिश्र धातओंु को ककस अिुपात िें मिलाया जािा चादहए जजसिें दटि और तांबे का 
अिुपात 8: 3 हो? A. 3:7 B. 7:3 C. 4:7 D. 7:4 E. None



Two vessels A and B contain milk and water mixed in the ratio 8 : 5 and 5 : 2 
respectively. The ratio in which these two mixtures be mixed to get a new 

mixture containing 𝟔𝟗
𝟑

𝟏𝟑
% milk is:

िो बतषि A और B िें िधू और पािी का मिश्रण क्रििः 8:5 और 5:2 के अिुपात िें है। 
𝟔𝟗

𝟑

𝟏𝟑
% िधू वाला एक िया मिश्रण प्राप्त करिे के मलए इि िोिों मिश्रणों को ककस अिुपात 

िें मिलाया जाता है: A. 2:7 B. 7:2 C. 4:7 D. 7:4 E. None




